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SECTION - 1
Child Psychology & Development Pedagogy,
Teaching Learning Process

= G Tl ormreraeens SHYR [ 1. The creative Potential can pe
; T improved by -
(A) T2 wfeTEm (A) Proper training
(B) afregst (B) Competition
(C) fFamam (C) Activities
D) T (D) Punishment
fawmg oftad &1 To1 wfasg g =t | 2 Development is the pattern of
................. | I T St g change thatbegins at............... and
i & 2 continues throughout the life.
(A) Tyl (A) Conception
(B) 5= (B) Birth
(C) ¥rraraEs (C) Infancy
(D) rearaee (D) Childhood
w8 ¥ e s e fraTares Sy 3. Withdrawal into one self is a
AT S FEd B developmental disorder which is

known as -
(A) Te-fadeh =qaer (A) Anti-social behaviour
(B) Tt (By Autism
(C) wHfas Heqy (C) Mental retardation
(D) 79 QA Fr =5 (D) None of these
‘Tﬁmmm... % FATEUEME! | 4. Knowledge of result is the same as -
(A) oy (A) Motivation
(B) ey (B) Reinforcement
(©) iy (C) Learning
(D) 77 & 718 4 (D) None of these
[J'22°3]SenesB [31]



e Wi & g feaferd qen st
% 9 I ° TfEE A SaRaEd
F1 AT e FedE 2
(A) SitFar

(B) ST

(C) |

(D) ¥ & =1 & |

TS BT ST S SyaEenadi § Srerarsgazen

457 T wfcqes T HIA-T 9
T Haer w A § e
FIATE?

(A) e Afeqes

(B) srnfere® (Sfidem)

(C) <% (demm)

(D) Trgem atfasifivay
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Operant conditioning is associated
with -

(A) Thorndike

4B) Skinner

(C) Hull

(D) Mliller

A belief in the permanence of
certain attributes of objects or
situations in spite of superficial
changes is called-

(A) Animism

(B) Conditioning

(C) Conservation

(D) None of these.

Piaget's stage for infancy is .......
(A) Formal operational

(B) Pre-operational

() Sensory motor

(D) Concrete operational

While running which part of the
brain is mainly responsible for
maintaining physical balance ?
(A) Large Brain

(B) Cerebellum

() Thalamus

(D) Medulla Oblongata







10.

11.

[J -2203] Series-B
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TAfaar &1 a8 vman s wAfa feafa
q =ggER &1 HAEFIA HLAl 2,
Tz o-

(A) TE HqAfasH

(B) A T

(C) TFMRH AT

(D) HeArH® HAlfaAA

10.

L owork Mﬂ;pwm'w whe
suffer from motivational and

emotional problems,

(A,) Cuunwllingl’gyd%
(B) Clinical Psychologjes
(C) ('.'.ommunityl?gymw
(D) Cogpnitive Psychologist

The branch of psychology which
studies behaviour in social
situations is called-

(A) General Psychology

(B) Social Psychology

(C) Cognitive Psychology

(D) Organisational Psychology

11. Systematic observation method is

(6]

similar to -

(A) Clinical method

(B) Interview method
(C) Experimental method
(D) Group method





13.

14.

15.

[J -2203] Series-B

(D) THERTHH

............................... F1 THEA T
%1 UF weEqol faiE ¥

(A) =

(B) fwgfa

(C) wmitfew

(D) FuiE Al
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13.

14.

15,

(6]

the foonder €

Who

‘Behaviorise' 7

wWas

(A) Wundt
(B) James
(C) Thorndike
() Wataon

Eysenek was ... peychologst
(A) An American

(B) A German

(C) A British

(D) None of these.

Creative people tend to think in 2
................ manner.

(A) Convergent

(B) Divergent

¢C) Positive

(D) Negative

.............................. similarity is an
important determinant of liking.
(A) Facial

(B) Attitude

(C) Physical

(D) Allof above







16. mﬁm%mﬁmﬁm

7.

18.

m -

(A) afa arefas e o
fazr=

(B) =g afz fazr=

(C) Fremita fagr=

(D) f& == fagra

9Ee™E (Pavlov) 1 9rEH ATEA

¥4 F1E famdi fags g zfz-FeFn
% 9% 91 ANGH SFT AT 95 -7 %
w9 fadt off azm § @ & Fad

16.

17.

18.

(7]

Howard Gardner's theory Of

intelligence is known as-

(A) Theory of primary mental
abilities

ﬁf Theory of multiple intelligence

(C) Triarchic theory

(D) Two Factor Theory

In Pavlov's classical conditioning
experiment 'Food' is a-

(4) Conditioned Stimulus

(B) Unconditioned Stimulus

(C) Conditioned Response

(D) Unconditioned Response

When a student comes back home
after having scolded by his
teacher, starts quarrelling with his
siblings on any pretext, this is
called-

(A) Displacement

(B) Regression

(C) Aggression

(D) All of the above.






19. :f"{’“*ﬂi‘xmmmmm

(A) warrs
(B) wtrmy

(C) =rprfers
(D) zuive wsft

20. Fw g o, AmreEm A A
ey o i () % o v
17
(A) =rfofy
(B) Hran
(C) wrir-frarrs
(D) 7w

21, 'mmfas aAfam fagra’ # aqEn
Lo e R # 3
fauffra 2 %)

(A) s

(B) Wi

= (D) 7

P B EE T aAE arAq 37

s

19. According to Fitts the phase of skill
learning includes -
(A) Cognitive
(B) Autonomous
(C) Associative
(D) All of the above

20. In Maslow's model of hierarchy of
needs, which need is at the bottom
of it ?

(A) Self actualisation
(B) Safety

(C) Physiological

(D) Esteem

21. According to 'Social learning
theory' man's behawiour is
determined by his -

(A) Response
(B) Body

(C) Socialization
(D) Goals

22. Whichamong the following is / are
the sensory channel ?
(A) Vision
(B) Hearing
(C) Touch
(D) All of these

(8]







23. PG A FIFH B STER W ......

24,

29

26.

% 5 B ¥
(A) waE

(B) gt
(C) sigfee
(D) @1varg

U € i agor 1 2 Fo sraradl w fapdt

(A) Favaraa

(B) awgfreaan

(C) Avan

(D) S9la | | 1S T8 |

IAE A HAfaw # forg T i v
1?2

(A) T8 FAEEAR

(B) wHIfaeTersoT

(C) & HAfaeersT

(D) T | FE TE

H3 F A WA ¥/ E-
(A) TTTERVY HRH
(B) afersd w1
(C) &8

(D) 39t Gt

23.

24.

25.

26.

[9]

Kohler and Koffka believed
learning to be a function of -

(A) Trial

(B) Imitation

(C) Insight

(D) Practice

................ of the test refers to the
consistency of scores obtained by
an individual on the same test on
two different occasions.

(A) Reliability

(B) Objectivity

(C) Validity

(D) None of the above.

Which school of Psychology was
founded by Freud ?

(A) Neo Behaviourism

(B) Psychoanalysis

(C) Neo Psychoanalysis

(D) None of these

Major source of frustrationis/are-
(A) Environmental factors

(B) Personal factors

(C) Conflicts

(D) All of above
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27. SEERET e Hww ufEm | 27 Encodingisthepm“d'
(A) faarm (A) Forgetting
(B) fadzon (B) Motivating
(C) =4 () Memory
(D) &&m (D) Emotion

28. T e T w1 g A o Fram @A | 28. A thirteen year old youth does a

W PRI R oo law breaking behavior, he will be
e considered as -

(A) Fwd (A) Criminal

), Fi-Srmn (B) Juvenile Delinquent

) o ean) (C) Anti Social

©) il (D) Negative behaviour

29. ‘IR Fw' I AfFaE iaw 7A@ | 29, 'R.B. Cattell' made a personality

i o S T | A T e test which is known as-
(A) A& (A) TAT.
(B) TEwg.La (B) W.AT.
(C) 16 9.UF. (C) 16 P.F.
(D) TH.9.3TE. (D) M.P.L
30. S TF WHS I § SH o 30. Attitude is a popular term which
R} gafa is related to-
(A) Frgarerd (A) Heredity
(B) fwm™ (B) Learning
(C) = (€) Mind
(D) =FEER (D) Behaviour

[J-2203] Series-B (10]







SECTION - II
Chemistry
31. f=fafeq wfafwasi 4 3 f&&a | 31. Which of the following reactions
2 2-dibromopropane T B ? will yield 2, 2-dibromopropane?
(A) CH;-C=CH + 2HBr - (A) CH;-C=CH + 2HBr —
(B) CH;-C=CH + HBr (B) CH;-C=CH + HBr —
(C) CH=CH + 2HBr — (C), CH=CH + 2HBr —»
(D) CH;-C=CBr + HBr - (D)" CH; -C=CBr + HBr -
32. 91 1 IUPAC M 711 &2 32. The IUPAC name of following is :
T RPN,
]
CH;— C—CH,~CH—CHO EHy- C- CH,—CH—-CHO
(A) 5-AF-4-BEgarTieT-2-31H (A) 5-Oxo-4-hydroxypentane-2-one
(B) 4-TTEgER-5-3Ta-2-THA (B) 4-Hydroxy-5-al-2-pentanone
(C) 2-TRgEEt-4- T (C) 2-Hydroxy-4-oxopentanal
(D) 1-37c1-4-FfF-4eT-2-3e | (D) 1-al-4-oxo-pentan-2-ol

33. fiprer &1 Aifeqw gregamEs s & | 33, The major product of interaction of

eR3AEES 4 ‘TITFR yfafss &1 vq@ Phenol with Sodium hydroxide
I & and Carbon dioxide is -
' (A) SSfgeh 377 (A) Benzoic acid

(B) dfefaer tfeeerss (B) Salicylaldehyde

(C) Hfafafes st (C) Salicylic acid

(D) feaew 3 (D) Phthalic acid

[J -2203] Series-B [11]






35,

36.

34. fwewdt grn wehen wrft g w0 )

1 g S & 2
(A) erafeafag

(B) srwiruy

(C) e

(D) w7 @ =g 7t |

sttarivamge Weued # frfafas 4 4
forr Afiras ) fenfrind & = # gmmer
feray s g ¥ 2

(A) faums Tehrele

(B) TEgRIE

(C) -mggreter

(D) ufae Yewhrele

Bzﬂéﬁﬁ'fﬂ?aﬂﬁaﬂw(zrsﬁmﬁm)
TR -

(A) sp

(B) dsp?

(C) sp?

(D) sp°

10

34.

35,

36.

37.

[12]

Alum purifies muddy water by-

(A) Dialysis

(B) Absorption
(C) Coagulation
(D) None of these.

Which of the following compound
can be used ‘as antifreeze in
automobile radiators ?

(A) Methyl alcohol

(B) Glycol

(C) Nitrophenol

(D) Ethylalcohol

The type of hybridisation of Boron
in B,H, is-

(A) sp

(B) dsp®

(©) sp*

(D) sp’

Among the following the bond that
requires highest energy to break is-
(A) H-H

(B) C-H

(G) C-C

(D) P-P







39.

40.

41.

(A)

B ?
(A) CHaBr
(B) CH,Br,

(C) CH,CI

(D) CHBr,

e T2 UehiEta FLUP.AC.
T &

(A) 3 HiamEa =23-1-3f

(B) 2 Hige 23-1-3d

(C) F=F-1-37a

(D) 2 wigEa 9=A-1-3d

:?ﬁiﬂ%ﬂﬁfﬁqfﬂgﬁhNﬁFH%;3mﬂ#$,
a3l 39 geEaEE 9?

(A) NH,
(B) NH,Cl

(C) NaOH
(D) CaCl,

[Pt (NH,), Cl,] &1 &l IUPAC T
FE?

TR srEFarrel @i (1)

(B) SETAEA sEFarel i (IV)
(©) zrTaE sEFane @™ (0)
(D) erwaE gréTArE < (IV)

[J-2203] Series-B
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38. Which one will have highest

Boiling point ?
(A) CH,Br
(B) CH,Br,
(©) CH,Cl
(D) CHBr,

39. The L.LU.P.A.C. name of Isopentyl

40.

41.

Alcohol s -

(A) 3 Methyl butan-1-ol
(B) 2 Methyl butan-1-ol
(C) Pentan-1-ol

(D) 2Methyl Pentan-1-ol

Identify the compound that has all
the three types of bonds; lonic,
Covalent and Coordinate -

(A) NH,

(B) NH/Cl

(C) NaOH

(D) CaCl,

The correct IUPAC name of
[Pt (NI-I})2 CIE] Is -

(A) Diammine dichlorido platinum ()

(B) Diammine dichlorido platinum (TV)

(C) Diammine dichlorido platinum (Q)

(D) Dichlorido diammine platinum (TV)

[13]

11




L T
(A) s=viey
(B) S/==

(C) s=vivm 3w Sma a5

(D) Towimm

43, ZR—G*i-ENaH RR+2NO

i wiaET -

(A) Savie==

(B) T&iz wisf==
(C) Tos==m vaEa
(D) $=oc Ta=d

o sudizaTa e’

(A) ===

®) = (| )
(©) & F==7= T2
| D) AT T

o
ﬁ.
4,
£
H
60
ﬁﬂ
"

TR I Tr® 9S4, T T

[14]
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|42 The term Sorption’ stands for -

{A) Absorption
{(B) Adsorption
(Q) Both absorption & adsorption
(D} Desorption

IR-A 2N RR+2NC
The reaction is-

(A) Wurtz reaction

(B) Httig reaction

(C) Finkelsteinreaction

(D) Frankiand reaction

In the metzllurgy of iron from
Hiematite, Limestone is added to
2ctas -

{A) Fiox

(B) Slag

(G} Areducng agent

(D) Anoxadising agent

. What tvpe of treatment is

beneficizl for Bee Sting ?
(4) Bakingsoda

(B} Sodiumcarbonate
(C) Sodium chloride
(D) Other




=
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46.

47.

48.

[J-2203] Series-B

‘ﬁﬁ ﬁ a9 B 1A eqq:ﬂq H-ﬁ'q T e
¥?
(A) CH,COOH
(B) HCOOH
(C) CH,CH,COOH
(P) CH,- (I.".H COOH
CH,

T W 5 (SORE) o 1 33T
3R CO, # agem &2

(A) ST

(B) Tadw

(C) TR

(D) TR

NaCl 3iRNH,Cl = fasm &1 8 ya®
foran < waFa1 €2

13

46. The strongest acid among these

47.

48.

49.

[15]

18-

(A) CH,COOH

(B) HCOOH

(C) CH,CH,COOH

(D) CH,-~CH COOH
CH,

The enzyme that converts Glucose
to Ethanol and CO, is-

(A) Zymase

(B) Invertase

(C) Lactase

(D) Sucrase

We can separate the mixture of
NaCland NH,Cl by the method of-
(A) Sublimation

(B) Distillation

(C) Fractional Distillation

(D) Crystallisation

Which of the following is an
insulator ?

(A) Graphite

(B) Diamond

(C) Aluminium

() Silicon



55 e g A od @ w

. WﬁﬁHapoga‘:'WW'ﬂtﬁTﬂﬁH*
T () 2
(A)3
(B) 0
(C) 2
(D) 1

51. fra i x w2

CgHg +3Cl, —Sunlight _,
(A) R Ssi

(B) #fougodto

(C) wmgel &=

(D) TR s

CO, % Hieq =t e faa § forerdt |
il 16 T &2

(A) 0.5H

(B) 0.2

(C) 0.4 T

(D) 0.25 |

52.

W B arclt B HA-H R ?
(A) Pb
(B) Ni
(C) Cu

2203 | Series-B [16]
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50.

51.

5%,

53.

How many H* will be given by
H,PO, in water (Basicity) ?

(A) 3

(B) 0

(C) 2

(D) 1

What is X in following?
CgHg +3Cl, —Sunlight , x
(A) Chloro benzene

(B) BHC

(C) Cyclobenzene

(D) Dichloro benzene

What are the number of moles of
CO, which contains 16g of Oxygen?
(Q) 0.5 mole

(B) 0.2 mole

(C) 0.4 mole

(D) 0.25 mole

The metal thatis used as a catalyst
in the hydrogenation of oils is ?
(A) Pb

(B) Ni

(C) Cu

(D) Pt




54,

. OFzﬁaTﬂmﬁmhﬁmqm

. SR IR fae@m #t pH =gt & @

mmwt?
(A) THH 95

(B) fen fafzaa
(C) fow =

(D) drem firesd

FME?
(A) =2

(B) +2
©) -1

(D) +1

1 STer =gy ?
(A) 3=
(B) 3Tty T
(C) &

(D) I HIegeH

FAME?

[17]
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54.

55.

56.

57.

mm HERS NOW

What is Calcium sulphate ?
(A) Epsom salt

(B) Blue vitriol

(C) Gypsumsalt

(D) Potash alum

What is the oxidation number of
oxygen in OF’2 ?

&) -2
(B) +2
€ -1

(D) +1

To increase the pH value of
neutral solution we should add -
(A) Acid solution

(B) Acid Salt

(C) Alkali

(D) Buffer Solution

The only radioactive element
among the Lanthanides is -

(A) Gadolinium

(B) Holmium

(C) Promethium

() Neodymium




FRESHERS NOW

S8. W YR faraan senes @ w27 | 58. Thehumbodiwm"’m‘

(A) Usmzn (A) Enzymes

(B) ﬁ""ﬂ"qﬂ' (B) DNA

(©) faarfi (G) Vitamins

(D) (D) Hormones

59. MR Ry faafrm A AFR T TR F | 59. Which one of the vitamins Ziver

HeTvie &2 below is water soluble 7
(A) faarfem E (A) VitaminE
(B) faaifia K (B) VitaminK
(C) faarfm C (C) VitaminC
(D) faafam D (D) Vitamin D
60. F,C =CF, faae dHm ¥? | 60. F,C =CF, is a monomer of -
(A) TwH (A) Teflon
(B) TemEEw (B) Glyptal
(C) -6 | (C) Nylon-6

(D) Buna-S (FA1-TH) (D) Buna-5

[18]
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SECTION - I11
Physics

61. " -
1 1gm1%wémmmg_ 61. The energy equivalent to a

substance of mass 1g is-

(A} 6107 (A) 6x10"]

(B) 9x107] (B) 9x10"]
(©) 3x10%] ©) 3x10'3]
(D) 6x107] (D) 6x10"]

62. |1 Aied F HTER FTEEA # & | 62. The moment of momentum for an

T e 7 A =1 Svig g3 electron in second orbit of hydrogen
FEm? atom as per Bohr's model is-
h h
(a) 7 4) 7
(B) 2sh { (B 2rh
2h 2h
© 2 © %
z x
o % o ;

63. f= d fem § axg ®1 9+ feafadl F | 63. Which of the following forms a
for vt 3R Hien it 70 8 ? virtual and erect image for all

E
"

positions of the object ?
(A) Faaa ©F (A) Concave lens
(B) A og (B) Convex lens
| (C) sTagim (C) Convex mirror
. @) F (@A) IO (B) Both (A) and (C)

E [4-2203] Series-B [19]
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o TS ¥ 3 @ e W YT | 64 Which waves are used in
=t Sonography ?
(A) =SS (A) Microwaves
(B) =tz 5 (8) Infrared rays
(O 3 &5 (C) Radio waves
D) s == (D) Ultrasonic waves
85 T 10 mH TT== R 1A 5 W0 | 650 A 100 mH coil carries a current of
eSSt TS 1A Energy stored in its magnetic
% 3E WEIRw 5= a2 field is-
k (A) 053] (A) 05]
(B) 005] (B). 005}
: (€ 1] € 1]
(D) 0.1] (D) 0.1]
TS WY SR W W ¥ W | 66, \Mobik telephone operates typically
oo &9 27 in the range of -
~ (A) 1-100 MHz (A) 1-100 MHz
' (B) 100-200 MHz (B) 100-200 MHz
| ' (G) 1000-2000 MHz
(D) S00-900 MHz
Mﬁw FEaw (10) T TE219 | 67. Number of electrons in one coulomb
of charge will be-
(A) 6.25x107
(B) 6.25x10'
(©) 6.25x107"°
(D) 6.25x10%
[20)
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68. ﬁﬁlSkgma‘rgmﬁlsm

69.

70.

TR ITI IR @ ) o
WW‘R%\{WWWW
- (g=10m /%)

LCR 9ft9e § wifs i stfasan am
-

(A) X, =X
(B) R=0

(C) X, =0
(D) X.=0

19
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68. A porter lifts a luggage of 15kg from

69.

70.

71.

[21]

the ground and puts it on his head
1.5m above the ground. The work
done by him on the luggage will be-
(g =10m/ s‘)

(A) 235]

(B) 225]

(C) 220]

(D) Zero

Power factor is maximum in an LCR
circuit when-

(A) XL = Xc

(B) R=0

(©) X, =0

(D) X-=0

Wave nature of light is verified
b}_r.

(A) Interference

(B) Photoelectric effect

(C) Reflection

(D) Refraction

Resistance of an ideal Ammeteris-

(%) 0
(B) 1
(C) ®
(D) -1





TR e we 10 o LRURT T
B0 stAw W wiren foesre dvon

(A) ABx1pty
(M) Abxpty
(C) dhmoty
(1) 4500 v

7AWl wa e we ofird) a U
KL QR IR N
R donw & Fram weanfi
(A) wim
(1) anAy
(C) al
(D) wep
74, U AT (v W s o) ol wuan
argeengul don 8-
(A) 1=MR’
) 1= %MI{’

(©) u%mu*

- (D) |9§.Mlt"

;?? ' el W) e g e A
B RIRER T

(A) 9.8 slo/ ddve ?

~(B) 9.8 oo/ Adbvz !

(€) 980 Hto/ davg ?

20

72 The patontial at a point due to a
Charge of 51077 € located 10 cm
AWaY |n-

(A) Abx10" v
(1) anxi0ty
(C) 45%10'v
(D) d.5x10" v

78 Bermoulli's principle Is a fundamental
Principle of fluid dynamics based on
the law of conservation of-

(A) Momentum
(1) Charge

(C) linerpy

(1) Masy

74, The moment of inertia of a circular
dise about its diameter is -

C(A) 1= MR?
| 2
B) 1=«—-Ml

(©) 1- ; MR
2 i ?
(D) 1= MR
75, The acceleration due to gravity at
the surface of earth is -
(A) 9.8 m/s?
(B) 98cm/s?
(C) 980 m/s*
(D) Zero




(B) A

A
© 3

o 5a

. FA | fFE gdu w k58 w@
24

21

76.

(23]

78.

79.

A particle executes simple harmonic
motion with an amplitude 'A’. At
what displacement it possesses half
potential energy and half kinetic

energy?

(A) %
(B) A

© 3

©) 2a

Which of the following activities is
not based upon friction ?

(A) Writing

(B) Speaking

(& Hearing

(D) Walking

The unit of linear magnification is-
(A) Meter

(B) Second

(C) Kilogram

(D) None

With the increase in pressure the
speed of sound will-

(A) Increase

(B) Decrease

(C) Remainsame

(B) Firstincreases and then decreases





80. 20y TEEE U # sfasan T
~ (Peak Valye) -

(A) 15526V

(B) 220v

© 311v

(D) 440v

81. =1 & 3 frm wd = fafire ey
T s a2

~ (A) TH

(B) =@

(C) @

(D) @

82, TfafseE g SvEm e i A
z o 2 &-

(A) F9a

()

a—

80. The Peak Value of 220V A.C. main
is-
(A) 155.26Vv
(B) 220v
(©) 311v
(D) 440V

81. Which of the following substance
has highest specific heat ?
(A) Water
(B) Iron
(C) Copper
(D) Mercury
82. The mirror used by dental doctors
) i.S -
(A) Convex
(B) Concave
(C) Plane

- (D) FH FFE T (D) None of these
‘ﬁ'iz T feas S s foaa W | 83, Alet engine works on the principle
of conservation of -
(A) Mass
3 (B) Energy
) g (G) Linear momentum
' Foig a1 (D) Angular momentum
'.i]scties-B [24)]
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& s eyl 92700 ;:i%ﬁ A | 84. The De-Broglie wavelength of a

neutron at 27 °C is 1. What will be

\ 1 its wavelength at 927 °C?
Y 1
2 ®; ;
c) =
© % © 5
(D) A8 = (D) None of the above.
85 sifeer ufyn =61 gfae- 85. Identify the scalar quantity-
' (A) farar= (A) Displacement
(B) st =it (B) Kinetic energy
(C) ™™ (C) Acceleration
(D) @am (D) Momentum

86, stert (T Fi2) T FOTTE - 86. Eddy currents do not cause-

(A) FEHE (A) Damping

(B) Heating
() o %1 #7fA (C) Lossof Energy
(D) e (D) Sparking

mﬂﬁmiﬁﬁ’lﬁﬁmﬁﬁmm 87. Which element is used to make

solar cell ?

(A) Silver

(B) Copper

(€) Siliconand Germanium
(D) Gold

[25]
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1

88. fim # § o w g D.C. M A.C. # | 88. Which device is used to convert D.C

HEEA & w e &2 AC?

(A) Yaewmr (A) Rectifier

(B) wmferwmmar (B) Amplifier

(C) faere (C) Oscillator

(D) Wiggae (D) Modulator

89. Rmgenafss eam@®? 89. The givenlogic gate is-
L A A
X Y

B B

(A) AND : (A) AND gate

(B) OR™e (B) ORgate

(C) NOR™= (C) NOR gate

(D) NOT %= (D) NOT gate

90. g fdaet | g s fFa =t ?FIT 1 90. Innuclear reactors the control rods
Bt € 2 are made of -
(A) Cadmium
(B) Graphite
(C) Krypton
(D) Plutonium

[26]
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SECTION - Iv
. Mathematics
(8 WX HCF (306, 687) = 9 4 LCM | 91. 1f HCF (306, 657) = 9 then LCM
(206,657) = ................. ? (306, 657) = e )
). 24 (h) 2754
(®) 513 (B) 5913
(©) 22338 ©) 22338
(D) ¥4 & #rf | (D) None of these.
. 92 WAATEGAE TF 25 @z H 14 | 92 A loaded truck travels 14 km in
. fEotiio =wem %1 3fz aa @@t @ 1 5 25 minutes. If the speed remains
w2 & feet zit 73 wim ? the same, how far can it travel in
5 hours?
(A) 168 fwodto (A) 168 km
(B) 268 fForito (B) 268 km
(C) 148 faotio (Cy 148 km
(D) 778 A FE T8 (D) None of these.
L 0.0000005 F1 T=F #4 § aZeA- 93. Convert 0.0000005 into standard

form-

(A) 5x10

(B) 0.5x1077

(C) 5x107

(D) None of these.



FRESHERS NOW

%4. WF I 7 Jar 7w ot o aw | 04, The height of cylinder whose radius

T4 &% 968 cm? 91 f511 7 cm
a2

(A) 15em

(B) 22cm

(©) 30em

(D) =78 ¥ =% 55

95. =14 A form dem =1 7 fam x| o5
am?

(A) 2826 7
(B) 42008

© 7779

(15) 5870

' 4 :5 %8 T4 A IAF g UM

[28]
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is 7 cm and total surface area is
968 cm? will be-

(A) 15cm

(B) 2cm

(€) 30cm

(D) None of these.

- Thesquare of which of the following

would be an odd number ?
(A) 2826

(B) 42008

Q 7779

(D) 5870

The ratio of present age of Anu and
Raj is 4 : 5. After Eight years from
now the ratio of their ages is 5 : 6.
What is the difference in their age
In years ?

(A) 40

B) 8

(C) 32

(D) 18



/"./\b

2fg 15 #fas & faam Y aq
»@ F1 4 92§ | 97. 1f 15 workers can builta wall in 48

Exu|
"' : :ga E7 m%;‘:} ﬂ:q]:ﬁ 0HY qa hours. How many workers will be
3 ot ? amm required to do the same work in 30
® -
- ;i (B) 22
© (C) 24
(D) 25 D) 25

8. 2 (HHF) 'ﬁ Hfywan 5 a9 | 98. The difference between maximum
S I S A B- and minimum observation in data is-

A (A) frequency

| (B) Hadt s (B) Cumulative frequency
(€) =t s (@ Class interval
| (D) Range

99. e D I H TS H Y TE T | 9. A card is drawn at random from a
g TTen T THE TR pack of 52 cards. The probability
&R gt - that the drawn card is not an Ace
: is-
(A) 33
(B 33

© 33

D) 33

[29]
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100. 3T & et worr §2

A) 1
(B) 2
©) 4

(D) ¥

101. Hommmmagﬁwhaaﬁzm 101.

19 341 B 2

(A) 70°
(B) 30°
(©) 110°

28

[30]

FRESHERS NOW

100. How many faces does a hemisphere

have ?
(A) 1
® 2
(C) 4
(D) Infinite

The adjacent figure HOPE is a
parallelogram. Find the angle

measure "Z"-

(A) 70°
(B) 30°
(C) 110°

(D) 40°



o TR TS T am 450

i
[ ]

(A) 8
(B) 4

© 2
(D) & @ =g 7

%.im.mﬂﬂﬂrﬂmtiﬁiaﬂmﬁw
o # 1 AfE S A U F 5 A s
7 fyes T @ 9 T A F A2
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102. What is the number of sides of

regularpolygonwhoseead\exteﬁor
angle has a measure of 45°?

(A) 8
(By 4
< 2
(D) None of these.

103. A Grand father is ten times older
than his grand daughter. Heis also
54 years older than her. Find the age

of grand daughter ?
(A) 8years

(B) 60years

(Cy 6 years

(D) 12years

104. The additive inverse of the Rational
a .
number = 15-
b
b
(A) -
a
5 b
)
© -3

(D)

o | B

[31]
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105 ==y e @ = ¥ R ¥ | 105, The altitude drawn on equal sides

= = S - of an equilateral triangle are in the
ratio of-

(A) 1:2:3 | (A) 1:2:3

®) 2:2:2 (B) 2:2:2

© 1:1:1 @ 1:1:1

(D) 3:3:3 (D) 3:3:3

106. 799 T9 T SS9 ¥ Ws ¥ 106. The mean of the first ten whole

numbers is-

(A) 35 ' (A) 35

(B) 45 (B) 4.5

(,Q)és (C) 55

(D) FEI=E T (D) None of these.

107. 28con S TR TE SREF 352m @ | 107. How many times a wheel of radius
T F % fou faet ar) gem @2 28 cm must rotate to go 352 m ?

(A) 200 R (A) 200 times
(B) 100 =R (B) 100 times
(©) 150 7R (C) 150 times
(D) 300 IR (D) 300 times

~ [J-2203] Series-8 [32]
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| 108 TN A 200 0
S5 ﬁﬁﬁﬂaﬁmmmtﬁm
frr

 (A) 100m

. ®) 20em

(C) 30cm

(D) 40cm

0o, Foc g 7 FE e frdes
; FHO: 21 on 3R 28 cm T 1 A v =
FEa ®?

 (A) 7346cm’

. (B) 75460m°

31

108. meamofarhombusiszmcmzand
one of the diagonal is 16 cm. Then
the other diagonal is-

(A) 10cm

(B) 20cm

QC)/ 30 cm

(D) 40cm

109. The height and the slant heightof a
cone are 21 cm and 28 cm respectively.

Then the volume of the cone is-
(A) 7346 e’
(B) 7546 cm’
(G) 7446 cm’
(D) 7564 cm®
110.1f x-2 is a factor of
41> +3x* —4x+k then the value
of k is-
’(A) 36
(B) 38
(C) -36

(D) -38

[33]





111. 993 'y fagm wigfas Geqsd &1 a0
-
(A) 2n-1
(B) n*
©) 2n+1
(D) n*-1

112. 3fg <y desi %1 4m 100 # a=n 38
W 50 ¥ @ 39 wEwsl w1 U
s
(A) 2:1
(B) 3:1
(C) 1:2
(D) 1:3

113. TF |&A abe, 9 ¥ fawifor & st & @
Tq g @ i w1 A 5 1

32

111. The sum of first 'n' odd Natural
numbers is-
(A) 2n-1
(By n’
(C) 2n+1
(D) n*-1

112. The sum of two numbers is 100 and
their difference is 50, then the ratio
of the two numbers is-

(A) 2:1
(B) 3:1
(€) 1:2
(D) 1:3

113. A number abc is divisible by 9, then

the sum of digit in it is a multiple

of-

(A) 2

(B) 6

Sy 9

(D) None of these.

[34]






(A) 50%
() 3333%

<4 (C) 25%
' - . (D) 100%

(A) r’
1 2
(B) E'" h
(©) arth
(D) xr?(r+h)

Hem At ?
(A) x-1
(B) x+2
b © -2
- (D) x+1

115, O 1 AT =

116, 7% x s g & @ s e

114, "Buy three get one free”, what is the
percentage of discount being offered
here 7
(A) B50%

({»/3.’5.33%
(C) 25%
(D) 100%

115, Volume of eylinder = ......cocco.s
(A) nr’
I

(B) 1frr (

3
(@) nr’h

() mr*(r+h)

116. If X is an even number, then whatis
the next odd number ?
(A) x-1
(B) x+2

(36]
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117, 0 et e o fovgr 4 € 540
mmmtﬂmmmhu
ferdhon wm w1 o W 17

(A) 400
(B) 550
(C) 500
(D) 450

118, faa # feu T wgds ABCD #,
DELAC, BFLAC, AC=24m,

=
:

DE=13 m 3t BF=8 m ¥, 9\« &1
AT F-

34

117. Sale price of a toy car is T 540. If the
profit made by shopkeeper is 20%.
What was the cost Price of the toy
car ?

(A) 400
(B) 550
(C) 500
(D) 450

118. In the quadrilateral shown in the

figure, DE L AC, BF LAC, AC=24m,

DE=13 m and BF=8m. Find area of

the quadrilateral.

(A) 250m*
(B) 252m?
(C) 254m?
(D) 260m?

[36]





j"‘ﬁ'
= (A) -1
— "‘

'I (B) 1

120, 2707 ¥ T T TH ST B
(A) =R H

) Fftmeht &1

(€ wEmH

(D) wfst For

35

119, If 3°*4 —3%*2 =8, then the value of
x is-

a) -1

(B) 1

© -2

Dy 2

120. 270° angle is an example of-
(A) Acute angle

(B) Obtuseangle

(C) Rightangle

(D) Reflex angle

[37]



SECTION - IV
General Awareness & Environmental Studies

121 Sy d5ft = e T s W2 121. What was the main subject of
'Kangra Painting' ?

@ = _ (A) War

(B) TeE=R (B) Royal Court

© s o= o (C) Shri Krishna and Radha
(D) wgies S (D) Natural Beauty

122, 5= ov Sum 9w S 399 999 | 122. In which year was the first

FEgL? - Legislative Assembly election of
H.P. held?

(&) 1951 (A) 1951

(B) 1952 (B) 1952

(C) 1953 | (C) 1953

(D) 1954 (D) 1954

15 S S RS (grr=2m@39™) | 123. The side view mirrors of vehicles are
which type of mirrors ?

(A) Plane

(B) Inverted

(C) Convex

(D) Concave

[38]
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Hatga 74 22 FTEET & | 124, Which of the following is not related
(A) TiE to disarmament ?
(B) @"ﬁﬁ'ﬁo (A) SALT
(© FoFodiodio (B) NPT
T (C) CTBI
&) (D) NATO

125. 1857 % faeie +1 ‘yay Ha=d Uy’ 125. Who gave the name 'First war of
FET fFEa 12 India's Independence’ to the revolt
of 1857 ?

(A) g9 9= 919
(A) Subhash Chandra Bose

(B) R AT (B) Jawahar Lal Nehru
3 (C) FoTte T (C) V.D.Savarkar
(D) were T (D) Mahatma Gandhi

C 106 A Y1 1 T F T 126. Whenwas"NITIAAYOG“formed?

(A) 1*January 2015

(A) 15Fad 2015
(B) 1T 2015 (B) 1% February 2015
(C) 19/ 2015 (G) 1% March 2015
(D) 1 ==t 2016 (D) 1*'January 2016
1 127. What is the modern name of
127. Tt &1 snfAF TH €7 Vesopotamia?
() w (A) Iran
(5). Agm (B) Oman
(C) wfern (C) Mangolia
. D) W= (D) Irag

ry. 2203] Series-B [39]
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128. Sy wfeads s 79 3~
(A) ¥t mea #d
(B) Zrsi= wma =1 &9

(©) vz
(D) 3 7+

I mdmam AR A A TR 8
) fora -

(A) Wz

(B) 29

(€ == ,

(D) =78 & = |

130 7 A FF 9w # wEa 37

'33; Vg 9 Fdma e e
o faam T A A g7 |

(a) T
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128, Climate changes are caused by-
(A) Green House Gases
(B) Depletion of ozone Layer
(C) Pollution
(é) All these.

129. A terrestrial part surrounded by s=;
on three sides-
(A) Peninsula
(B) Island
(C) Coast
(D) None of these.

130. Which of the following is a Rabi
crop? '
(A) Rice
(B) Gram
(C) Cotton
(D) Coarse Cereal
131. 'National youth festival' is organised
every year on the birth anniversary
of -
(A) Rajiv Gandhi
(B) Swami Vivekanand
(C) BhagatSingh
(D) Laxmi Bai

[40]





m.mﬁmqﬁamwﬁ?

(A) SR wfe
(B) 3T it
(©) wS TEY
(D) =R FHR

134 T a A g HE T FHITHERA
; 2 iy 3 €2
. (A) T
(B) WA F
(C) faa sl
(D) el SRt

135, 59 A 2w drR faga @ A & S A
L B
L (A) TR 2w

39

132. Who wrote Mahabharata ?
(A) VedVyas
(B) Valmiki
(C) Tulsi Das
(D) Kabir

133, Who was the first woman President
of India ?
(A) Pratibha Patil
(B) Indira Gandhi
(C) Sarojini Naidu
(D) Meera Kumar

134. Recently released movie '"The
Kashmir Files' is directed by-
(A) Anupam Kher
(B) Darshan Kumar
(C) Vivek Agnihotri
(D) Pallavi Joshi

135. Which countries are known as
"Third world'?
(A) Capitalist country
(B) Communist country
(C) Developing country
(D) Oil Producing country

[41]
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136. 7 wurnis) sree g W & T

N sew e wel fouw ¥?

(A) Hom gt
(B) i &
(C) faoin &
(D) e &t 3

137. oWo TR Ny HHed RETEEH T

w7

(A) 101
(B) 121
(C) 1098
(D) 1100

138. fard o9 § Sy (S |

=

o -
'
Fe
) -
- e

 [J-2203] Series-B

(1681 A.D.) e aImesh grI st

a?

- (A) JE TN

(B) SR W&l
(C) T FH
(D) i W

¥

40

136.

137.

138.

[42]
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Where is the "Atal Tunnel”, nameg
after former Prime Minister Atal
Bihari Vajpayee located ?

(A) Kunzam Pass

(B) Kinnaur

(C) Sirmaur

(D) Rohtang Pass

What is H.P. Mukhyamantri Seva
Sankalp helpline number ?

(A) 101

(B) 121

(C) 1098

(D) 1100

Jagannath Temple (1681 A.D.) in
Sirmour State was built by which
ruler?

(A) BudhPrakash

(B) Bir Prakash

(C) Jagat Prakash

(D) Karan Prakash
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FRESHERS NOW

0" " 139. Which Ra]a of Mandx brought Guler
w9 N SN TER g

painter "Sajnu" to his court ?

(R) T Yeult & (A) Raja Ishwari Sen
L3 (B) I A (B) Raja Birbal Sen
P T (C) RajaShayam Sen
' (D) T T F (D) Raja SurajSen

. 140. W@ % ST fifew weega # # | 140. Which trophy is awarded at the
| it grRt qrERr H 2 Seft ¥ 2 International film festival of India?
(A) w@ FHa (A) Golden Lotus

(B) w@ TR | (B) GoldenTPeacock

(C) =i (C) GoldenElephant

(D) i aF - (D) Golden Tiger

141. 29 7§ 2022 1 WM T AEooTFo | 141. Which team won the IPL 2022 final
2022 T HEAA fHE R A St ? played on 29" May 2022 ?

(A) o= g fwm ’. (A) ChennaiSuper Kings

(B) T~rEAH WA (B) Rajasthan Royal

(C) TS &g - (©) Gujarat Titans ]
(D) TETS GR AHZH (D) Lucknow Super Giants

L 3 f42. gRE & ¢ foren ifd 2020 FTAFAHUSE | 142, When was new education j:iolicy

BRI e Tika fevan T ? 2020 approved by Union Cabinet ?
(A) 29 9€E 2020 (A) 29 July 2020

(B) 29 T 2020 (B) 29 August 2020

(C) 18T 2020 | (C) 18 July 2020

(D) 14 faeaR 2020 : (D) 14 September 2020

[J-2203] Series-B [43]
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43 mimmﬁﬁ““’
e TR ?
(A) s==s=
(B) =g
© =
D) ==

4 20 S5hKs 59 5 Ssa A o
[W w2
(A) sw3
@) ==
© ==
(D) ==+

. - :I.-u. .IU.

_' | L 145 SRR T SN s R ¥2

(A) fe=r

(B) == Rw
€ F==
(D) SiF=s T

-_-;_*ff 146, s St U3 W2 5 e
B FmEa? |
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143. Where was the first nuclear powe;

plant set up in India ?
(A) Kalpakkam

(B) Tarapur

(©) Narora ‘
(D) Cattack

144. Which country will host the

1406.

[44)

Olympic Games in 2024 ?
(A) India

(B) England

(©) France

(D) Japan

- Where is Jamshedpur steel plant

situated ?

(A) Bihar

(8) Madhva Pradesh
(C) Jharkhand

(D) West Bengal

Who recommended the three tier
Panchayvat Rajsystem ?

(A) Sarkaria Commission

(B) Singhvi Committee

(C) Ashok Mehta Committee

(D) Balwant Rai Mehta Committes



147. T3 T A 3
I a3 147. Who administers the cath to the

: 22 ?
() 0L President of India ?
) Vice President
(B) W73 % T3 =iy b : -
i ? (B Chief Justice of India
© wE 9 F g
o (C) Speaker of Lok Sabha
(D) v
(D) Prime Minister

148. @ 751 = > =
1 fe9=a w29 2 e f=3 2 | 148, Swan river flows through which

?::“333? ‘ district of Himachal Pradesh ?
&
(4) Una
,~ (B) = (B) Kangra
| (©) fammag (C) Bilaspur
(D) == (D) Chamba

o 149, e it gt A A S feg 149. When was Gaiety Theater of Shimla

! zmam ‘opened for common people ?
(A) 1887 (A) 1887
(B) 1889 ‘ (B) 1889
©) 1892 (©) 1892
(D) 1899 (D) 1899

mﬂﬁl@qm‘qﬁtﬁ'ﬂﬁﬁlﬁhﬁ 150. Mata Chin Mastika temple is

EY | located in which district ?
3 (5) foraen (A) Shimla
. (B) @ | . (B) Kangra
© m:n. ) (C) Una |
If.“ (D) g EEERE W] e
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